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Fluid:="IF97::H20"

State 2:
Boiler exit

State 4:
Condenser exit

State 1:
Pump exit

State 3:
Turbine exit
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h _:=Prop("H", P s
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Q. p[Q 3 3]

s :=Prop("s", P T
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s :=Prop("s", P ,
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T :=Prop("T", P ,s
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S =S
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T _:=Prop("T", P s
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State { T [°C] { P [kPa]l { h [kJ/kg] i s [kJ/kg/K] | Q [%]
1 33.21 13000 150.78 0.48 0
2 560.02 13000 3497.53 6.64 0
3 32.9 5 2024.11 6.64 77.85
4 32.9 5 137.77 0.48 0
Pump WP::m.hl_h4=3.9044MW
Turbine W :=t.lh —h |=442.0239 MW
T 3 2
Condenser Q' «—=m.lh —h |=565.9046 MW
¢ 4 3
Boiler Q=1 h2—h 1 =1004.0241 MW

Rankine cycle
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£ [Prop "s", Tr cr’ 0]’ TTr—Cr]
f [Prop "S", Tocpr 1], TTI_CI]
£ [Prop "S", dummy:=P , Tl_z), Tl_z]
3£
[s [2.. 4]]
f [Prop ["S", dummy :=Q -, TTr_Cr], TTr_Cr]
augment (f (s, T), " ")
augment [f (s, T), num2str ([ 1.. 4])]
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£ [PrOp "HY Top_cpr ) Tr—Cr]
£ [PrOp "H", TTr cr’ ] Tr—Cr]
£ [Prop "H", dummy:=P , Tl_z), Tl_z]
Jf(h
[ [2-- .. 4]
f [Prop ["H", dummy :=Q -, TTr_Cr], TTr_Cr]
augment (f (h, T), " ")
augment [f (h, T), num2str ([ 1.. 4])]
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